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Note: () You must write the subject-code/paper-code  028/C in the box provided on the title ,)//,:,1:/

prage of your answer-book. ~ —

(i) Make sure that the answer-book contains all pages (including title page) intact and z
are properly serialed as soon as you receive it.

(1)) Question/s attempted after leaving blank page/s in the answer-book would not be

evaluated. % \ ,\_(/,:_;i“t/f:;j »
(vv)  All questions are compulsory. ‘ ) W”
(v)  Use of calculator is not allowed but Log Tables can be used. = {’/ﬂ«
(vi)  Marks allotted to each question are indicated against it. (':\f ="
(vii)

Punjabi and Hindi versions of questions are translations of English version. So in

the case of any confusion consider English version to be correct.
(viii) Internal choice is provided in Q. No. 2, 4, 6, 8, 9,and 10.

(ix)  Use of graph paper is necessary in Q. 11.
Part-A

@ _Find the vector and cartesian eguaﬁgg.s_of a plane passing through the point (1, 3, -7) and

perpendicular to the line x=11y 1' 23 2—53 . 2

2. Evaluate J-l—_cos_x dx. ) 2
1+ cosx AR

&
or /

s (BT e

+ 3
2 sin’x
Evaluate _L ———dx.

sin’ x + cos’ x 2
3.  Usingdeterminants, find the value of x if the points (x,2),(5,-7) and (1,5) arecollinear. 2
4.  Findthe general solution of the differential equation xdy —ydx = 0. 2
or '

Find the integrating factor of the differential equation
(1+x%) dy+2xydx=cotxdx, (x#0). 2
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Faalune j(\{u;n{ 4 \fcax) dx. i
or
Evaluate j(:(x +3) dx asthe limitofasum. )

Find the arca of the region enclosed by the parabola x? =y, theline y=x+2 andthe x—axis. 4

Solvethedifferential equation (x —y) dy — (x +y) dx = 0. 4
C
or
- ; d : -
Find the particular solution of the differential equation -d-)-};' ~3ycotx=sin2x;y =2, x = 2
4

Part-C

Using matrix method, solve the following system of linear equations :

3x+y-2z2=3,x-2y-3z=-4,2x+3y-4z=1 2, ,-’}’A 6
" g 21
a’+1 ab ac _3:;
Provethat | ab  b*+1 bc |=1+ a’+b*+c? 6
ca cb ¢ +1 @

Find the equation of the plane passing through the points (2,3,-1),(3,2,5) and (7,-6, 1). 6

‘- = A-7
Y A L
Find the shortest distance between the lines Q- S 23
) 3 =K 2 Y, -SrZ,
x+1 y=-2 2z+3 X-3 yi+2 2z2-7 X -6 - Tar =¥
TR e Sl e R o s i Bl J g
i
11, Graphically maximize and minimize Z =4x+3y~2 subject to the constraints x + y23,
Xx+y<12,x<9,y<9,x20,y20. } 6 |
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